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ANSWERS TO UNIT Ii : INTRODUCTION TO CHEMISTRY

(a) unknown amount = costindollars or # ofdollars
initial amount =100 g ; .
conversion factor = $50/g, or 1 g/$50 ﬂ = |4
(b) unknown amount = # of disks
initial amount = $36.00 _
conversion factor = $6.00/10 disks, or 10 disks/$6. 00 #didks
(c) unknown amount = volume in millilitres or # of millilitres

initial amount =209 _ e
conversion factor = 0.35 g/mL, or 1 mL/0.359 Hyml = ?—Uﬁ ¢

(d) unknown amount = # of kiwi fruit
initial amount = $5 "
conversion factor = 3 kiwi fruit/$1, or $1/3 kiwi fruit™ ©w = #3

(e) unknown amount = # of bims

initial amount = 30 tuds A\owns = 20 ud s o ':f lﬂ‘ ] ;-.1 livis
conversion factor = 4 bims/5 tuds, or 5 tuds/4 bims - ’

(f) unknown amount = # of goats IR PR [ (= T 1 g 1‘13 m
initial amount = 10 cCOWS 3 A coaxs !

conversion factor = 2 cows/7 goats, or 7 goats/2 cows
(g) unknown amount = mass of oxygen or # of grams

initial amount = 5.5 moles - 55 ‘rvujgg_) ,,_J— @

: i &
conversion factor = 32 g/mole, or 1 molelf32 g J | ,q,w

(h) unknown amount = # of sulphur molecules ABE, | M ordo | ML \13 - Ll

initial amount = 104 sulphur atoms
conversion factor = 8 sulphur atoms/1 sulphur molecule, or 1 sulphur molecule 8 su!phur atoms

(i) unknown amount = length of time  or # of seconds ee -
initial amount = 200 coulombs - ~ 00 ¢A x =\ bsec
conversion factor = 35 coulombs/s, or 1 s/35 coulombs 5) (,é -

(j) unknown amount = temperature increase or #0of°C

initial amount = 100 kJ T v :
4% - in | "¢ - o \
conversion factor = 4.18 kJ/1°C, or 1°C/4.18 kJ . =100 \‘—_Sx B \ Q0 ¢

23
02 s
(a) #of atoms = 5.5 mol X Byl gt {3.3x 10% atoms
_ 1 mol

(), ot migiss 25,01 kL2
20.4L

(c) #ofmoles=7.0gx L mg 40.25 mol l
289 l—m—7m 8 ™

_1s
35 coulombs
e ——
1 atm 10

4 x 107" atmospheres
101.3kPa M_E’__, J

0.0311kg
1 troy ounce

=1.12 mol

(d) # of seconds = 200.0 coulombs x =57s

(e) #of atmospheres = 4 x 108 kPax

(f) #of kilograms = 3.20 x 10* troy ounce x =995 kg

- 1ms
(g) # of milliseconds =5.0x 10 sx 102 . —_%Ejg__rr‘lg_

(h) #of moles =15 100 kJ x 5—lﬂ-ol— =2.77 mol

D o = S X\o® mm\

1) Bl = 0.05 Mo x
| Micro




